Magic Chef CAV2000AWQ 05 - CONTROL PANEL

Magic Chef Residential Magic Chef CAV2000AWQ Washer Parts Parts Diagram 05 - CONTROL PANEL
Click on the part number to view part

1 21001808 Panel, Control
2 21001769 Endcap, Panel
" 25.3092 90767 Screw, 8A X 3/8 HeX Washer

Head Tapping
3 21001768 Endcap, Panel
Screw, 8A X 3/8 HeX Washer

25-3092 90767 BEZthTAoing

4 25.3092 90767 Screw, 8A X 3/8 HeX Washer
1 B Head Tapping

" 21001139 Switlc_h, Water Temp. 3

Position

5 21001554 Switch, Water Level

" 21001882 Switch, Pressure

" 25.3092 90767 Screw, 8A X 3/8 HeX Washer
— Head Tapping

6 21001771 Skirt, Timer Knob

7 21001770 Knob, Timer

8 21001517 Shield, Control


http://www.pwslaundry.com/c-512403-residential-magic-chef-cav2000awq-washer-parts-for-repair-service
http://www.pwslaundry.com/i-10431015-magic-chef-21001808-washer-panel-control.html
http://www.pwslaundry.com/i-10431018-magic-chef-21001769-washer-dryer-endcap-panel.html
http://www.pwslaundry.com/i-10433785-magic-chef-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10431021-magic-chef-21001768-washer-dryer-endcap-panel.html
http://www.pwslaundry.com/i-10433785-magic-chef-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10433785-magic-chef-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10429865-magic-chef-21001139-washer-switch-water-temp-3-position.html
http://www.pwslaundry.com/i-10429869-magic-chef-21001554-washer-switch-water-level.html
http://www.pwslaundry.com/i-10430038-magic-chef-21001882-washer-switch-pressure.html
http://www.pwslaundry.com/i-10433785-magic-chef-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10431024-magic-chef-21001771-washer-skirt-timer-knob.html
http://www.pwslaundry.com/i-10431027-magic-chef-21001770-washer-knob-timer.html
http://www.pwslaundry.com/i-10429899-magic-chef-21001517-washer-dryer-shield-control.html

Screw, 8A X 3/8 HeX Washer

10 25-3092 90767 Head Tapping

Screw, 8A X 3/8 HeX Washer

11 25-3092 90767 Head Tapping

12 21001772 Knob, Selector

" 21001573 Not Available MANUAL, USE & CARE

" 21001785 Harness, Wire


http://www.pwslaundry.com/i-10431030-magic-chef-21001767-washer-dryer-frame.html
http://www.pwslaundry.com/i-10433785-magic-chef-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10429885-magic-chef-21001527-washer-dryer-shield-rear.html
http://www.pwslaundry.com/i-10433785-magic-chef-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10429888-magic-chef-21001522-washer-timer.html
http://www.pwslaundry.com/i-10431033-magic-chef-21001772-washer-dryer-knob-selector.html
http://www.pwslaundry.com/i-10430998-magic-chef-12002417-washer-wire-kit.html
http://www.pwslaundry.com/i-10430850-magic-chef-21001785-washer-harness-wire.html
http://www.pwslaundry.com/i-10430192-magic-chef-21001933-washer-harness-wiring.html

	Magic Chef CAV2000AWQ 05 - CONTROL PANEL

